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QUESTION 1

Service A has become increasingly difficult to maintain. Its core service logic has become bloated and convoluted
because it has been updated numerous times during which additional functionality was added to interact with the
database and the legacy system and to support interaction with Service Consumers A and B (via the two service
contracts) as well as interaction directly with Service Consumer C. 

What steps can be taken to solve these problems and to prevent them from happening again in the future? 

A. The Service Facade pattern can be applied to position a Facade component between the core service logic and the
implementation resources (the database and the legacy system) and to also position a Facade component between the
two service contracts and Service Consumers A and 

B. The Official Endpoint pattern can be applied to limit access to Service A to one of its two published service contracts.
The Service Loose Coupling principle can be applied so that Service Consumer C does not negatively couple itself
directly to the core service logic of Service A . B. The Service Facade pattern can be applied to position a Facade
component between the core service logic and the implementation resources (the database and the legacy system) and
to position a faade component between the core service logic and the two service contracts. The Contract Centralization
pattern can be applied to limit access to Service A to one of its two published service contracts. The Service Abstraction
principle can be applied to hide the implementation details of Service A from service consumers. 

C. The Service Faade pattern can be applied to position a Facade component between the core service logic and the
two service contracts. The Contract Centralization pattern can be applied to limit access to Service A to one of its two
published service contracts. The Service Loose Coupling principle can be applied so that Service Consumer C does not
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negatively couple itself directly to the core service logic of Service A . 

D. None of the above. 

Correct Answer: B 

 

QUESTION 2

Service A is an entity service that provides a Get capability that returns a data value that is frequently changed. 

Service Consumer A invokes Service A in order to request this data value (1). For Service A to carry out this request, it
must invoke Service B (2), a utility service that interacts (3.4) with the database in which the data value is stored,
Regardless of whether the data value changed. Service B returns the latest value to Service A (5), and Service A
returns the latest value to Service Consumer A (6). 

The data value is changed when the legacy client program updates the database (7). When this change happens is not
predictable. Note also that Service A and Service B are not always available at the same time. 

Any time the data value changes. Service Consumer A needs to receive it as soon as possible. Therefore, Service
Consumer A initiates the message exchange shown in the Figure several times a day. When it receives the same data
value as before, the response from Service A is ignored. When Service A provides an updated data value, Service
Consumer A can process it to carry out its task. 

Because Service A and Service B are not always available at the same times, messages are getting lost and several
invocation attempts by Service Consumer A fail. What steps can be taken to solve this problem? 

A. The Asynchronous Queuing pattern can be applied so that messaging queues are established between Service A
and Service B and between Service Consumer A and Service A . This way, messages are never lost due to the
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unavailability of Service A or Service B . 

B. The Asynchronous Queuing pattern can be applied so that a messaging queue is established between Service A and
Service B . This way, messages are never lost due to the unavailability of Service A or Service B . The Service Agent
pattern can be further applied to establish a service agent that makes a log entry and issues a notification when re-
transmission attempts by the messaging queue exceeds a pre-determined quantity. 

C. The Asynchronous Queuing pattern can be applied so that a messaging queue is established between Service
Consumer A and Service A. This way, messages are never lost due to the unavailability of Service A or Service B. The
Service Agent pattern can be further applied to establish a service agent that makes a log entry each time a runtime
exception occurs. 

D. None of the above. 

Correct Answer: A 

 

QUESTION 3

Service A is an entity service that provides a set of generic and reusable service capabilities. In order to carry out the
functionality of any one of its service capabilities, Service A is required to compose Service B 

(1) and Service C (2) and Service A is required to access Database A (3), Database B (4), and Database C (5). These
three databases are shared by other applications within the IT enterprise. 

All of service capabilities provided by Service A are synchronous, which means that for each request a service
consumer makes. Service A is required to issue a response message after all of the processing has completed. 

Depending on the nature of the service consumer request, Service A may be required to hold data it receives in memory
until its underlying processing completes. This includes data it may receive from either Service A or Service B or from
any of the three shared databases. 

Service A is one of many entity services that reside in a highly normalized service inventory. Because Service A
provides agnostic logic, it is heavily reused and is currently part of many service compositions. 
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You are told that Service A has recently become unstable and unreliable. The problem has been traced to two issues
with the current service architecture. First, Service B, which is also an entity service, is being increasingly reused and
has itself become unstable and unreliable. When Service B fails, the failure is carried over to Service A . Secondly,
shared Database B has a complex data model. Some of the queries issued by Service A to shared Database B can take
a very long time to complete. What steps can be taken to solve these problems without compromising the normalization
of the service inventory? 

A. The Redundant Implementation pattern can be applied to Service A, thereby making duplicate deployments of the
service available. This way, when one implementation of Service A is too busy, another implementation can be
accessed by service consumers instead. The Service Data Replication pattern can be applied to establish a dedicated
database that contains an exact copy of the data from shared Database B that is required by Service A . 

B. The Redundant Implementation pattern can be applied to Service B, thereby making duplicate deployments of the
service available. This way, when one implementation of Service B is too busy, another implementation can be
accessed by Service A instead. The Service Data Replication pattern can be applied to establish a dedicated database
that contains an exact copy of the data from shared Database B that is required by Service A . 

C. The Redundant Implementation pattern can be applied to Service B, thereby making duplicate deployments of the
service available. This way, when one implementation of Service B is too busy, another implementation can be
accessed by Service A instead. The Service Data Replication pattern can be applied to establish a dedicated database
that contains a copy of the data from shared Database B that is required by Service A . The replicated database is
designed with an optimized data model in order to improve query execution performance. 

D. None of the above. 

Correct Answer: C 

 

QUESTION 4
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Service A is a utility service that provides generic data access logic to a database that contains data that is periodically
replicated from a shared database (1). Because the Standardized Service Contract principle was applied to the design
of Service A, its service contract has been fully standardized. 

Service A is being accessed by three service consumers. Service Consumer A accesses a component that is part of the
Service A implementation by invoking it directly (2). Service Consumer B invokes Service A by accessing its service
contract (3). Service Consumer C directly accesses the replicated database that is part of the Service A implementation
(4). 

You\\'ve been told that the reason Service Consumers A and C bypass the published Service A service contract is
because, for security reasons, they are not allowed to access a subset of the operations in the WSDL definition that
expresses the service contract. How can the Service A architecture be changed to enforce these security restrictions
while avoiding negative forms of coupling? 

A. The Contract Centralization pattern can be applied to force all service consumers to access the Service A
architecture via its published service contract. This will prevent negative forms of coupling that could lead to problems
when the database is replaced. The Service Abstraction principle can then be applied to hide underlying service
architecture details so that future service consumers cannot be designed to access any part of the underlying service
implementation. 

B. The Contract Centralization pattern can be applied to force service consumers to access the Service A architecture
via its published service contract only. The Service Loose Coupling principle can then be applied to ensure that the
centralized service contract does not contain any content that is dependent on or derived from the underlying service
implementation. 

C. The Concurrent Contracts pattern can be applied to Service A in order to establish one or more alternative service
contracts. This allows service consumers with different levels of security clearance to continue accessing the service
logic via its published service contracts. 

S90.09 VCE Dumps | S90.09 Exam Questions | S90.09 Braindumps                                6 / 7

https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html


https://www.geekcert.com/s90-09.html
2024 Latest geekcert S90.09 PDF and VCE dumps Download

D. None of the above. 

Correct Answer: C 

 

QUESTION 5

You are an architect with a project team building services for Service Inventory A . You are told that no SLAs for Service
B and Service C are available. You cannot determine how available these services will be, but it has been confirmed
that both of these services support atomic transactions and the issuance of positive and negative acknowledgements.
However, you also find out that the services in Service Inventory B use different data models than the services in
Service Inventory A. Furthermore, recent testing results have shown that the performance of Service D is steady and
reliable. However, Service D uses a different transport protocol than the services in Service Inventory A. The response
time of Service A is not a primary concern, but Service Consumer A does need to be able to issue request messages to
Service A 24 hours a day without disruption. What steps can be taken to fulfill these requirements? 

A. The Event-Driven Messaging pattern is applied so that a subscriber-publisher relationship is established between
Service Consumer A and Service A . This gives Service A the flexibility to provide its response to Service Consumer A
whenever it is able to collect the three data values without having to require that Service Consumer A remain stateful.
The Asynchronous Queuing pattern is applied so that a central messaging queue is positioned between Service A and
Service B and between Service A and Service C . The Data Model Transformation and Protocol Bridging patterns are
applied to enable communication between Service A and Service B and between Service A and Service C . The Service
Autonomy principle is further applied to Service A in order to improve its overall runtime behavioral predictability. 

B. The Reliable Messaging pattern is applied so that a system of acknowledgements is established between Service
Consumer A and Service A . This gives Service A the flexibility to provide Service Consumer A with acknowledgements
that indicate that the processing steps that are occurring between Service A and Service B, Service C, and Service D
are progressing. The Asynchronous Queuing pattern is applied so that a central messaging queue is positioned
between Service A and Service B and between Service A and Service C and between Service A and Service D . The
Redundant Implementation pattern is applied so that a copy of Service D is brought in-Upon reviewing these
requirements it becomes D with a standardized service contract that is in compliance with the design standards used in
Service Inventory A. 

C. The Asynchronous Queuing pattern is applied so that a central messaging queue is positioned between Service A
and Service B and between Service A and Service C and between Service A and Service D and so that a separate
messaging queue is positioned between Service A and Service Consumer A. The Data Model Transformation pattern is
applied to enable communication between Service A and Service B and between Service A and Service C . The
Protocol Bridging pattern is applied to enable communication between Service A and Service D . 

D. None of the above. 

Correct Answer: C 
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